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‘APK.00 ATANTALHOHHO-PeADUTHTAUNONHBIN KYPC 2/0 195 159 51 42 93 51 51 162
APK.01 ConuansHas aganranus 3 17 7 17 17
APK.02 KoppexLHOHHO-pa3BUBAIOIIKE 3aHATHS nhx/ndr/ndx/3 63 63 17 12 29 17 17 34
APK.03 OCHOBBI 310pOBOT0 00pasa KUIHU 3 17 7 17 17
APK.04 [IIkosia MacTepcTBa nhr/ndx/3 47 47 17 13 30 17 17
APK.05 OcHOBBI noucka paGoThI H TPYA0YCTPOHCTBA 3 17 10 17 17
APK.06 Orrka NpodecCHOHaTBHOr0 0GIICHHS 3 17 10 ) 17 17
APK.07 HHTEpHET- coLfani3ams 3 17 15 17 17
OI11.00 A3ATENBHEIE HHKI 0/3 168 138 34 50 84 68 16 84
OlL1.01 Pa3BuTHE PEUH U THCHEMO nbx/n3 39 - 20 22/12 22 17/8 17
OLL.02 OCHOBBI KpaeBeIeH s 3 17 10 17 17
OI1.03 DuspyecKas KyJIbTypa 3/3/3/3 112 108 34/33 28/27 62 34/33 16/15 50
OI1.00 O6menpoheccHonaNbLHEI LKA 07 177 84 85 44 129 48 48
OI1.01 OcHOBBI MaTepHATOBEIEHHS MIBEHHOr0 MPOU3BOICTBA ndx/ndx/n3 36 16 17/5 22/6 39 17/5 17
OI1.02 OCHOBBI CIIEIUATEHOTO PUCYHKA ndx/n3 39 31 17/13 22/18 39
OI1.03 TexHuueckoe ocHaleHKE ¥ OpraHu3ays pabouero 3 17 7 17 17
Mecra
OI1.04 OxpaHa Tpy/Ja 1 TeXHKKa 6€30IaCHOCTH 3 17 3 17 17
OI1.05 Pacuets! B mpodeccuu I3 17 10 17 17
OIL.06 OCHOBBI OE30MaCHOCTH JKM3HEACATENEHOCTA 5 31 15 31 31
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.00 POPECCHOHATBLHBIC MM CLIAIIMHBL 0/5 1860 60 340 584 924 343 593 936
I11.01 TexHOoI0rUs 06pabOTKM TEKCTUILHBIX M3/IEITHI nbx/n3/ndx/n3 300 60 85720 74/15 159 88/20 53/5 141
VII YuebHas npakTHka nbx/n3/ndr/n3 1140 255 510 765 255 120 375
[T [Tpou3BOACTBEHHAS PAKTUKA a3 420 420 420
A Hrorosas arrecranys (KBaJii(UKanuoHHbIH SK3aMeH) 30 30 30
YacoB B Hezelo 2/15 30 30 30 30
{Bcero obnsarensHoe obyuenie 2430 2430 440 510 720 1230 510 660 30 1200
Komncyssranuu 80 80 20 20 20 10 10
Hroro yacos 2510 2510
nucuuruiad 1 MJIK 255 210 465 255 120 375
y4. IPaKTUKA 255 510 765 255 120 375
Hrorosas arrecrauus: KBaTu(ukauoHbIi 3x3aMeH TTPOM3B.TIPAKTUKH 0 0 0 0 420 420
1 (oxHa) Henes - UTOTOBas ATTECTaLMs i ¢.3ageToB 3 3 6 4 3 7
3a4ETOB 1 1 2 2 3 5




